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QUESTION 1

Which component automates the consumption of third-party services and provides mapping to virtual machines using a
logical policy?

A. NSX Manager

B. Cloud Management Platform (CMP)
C. Service Composer

D. NSX Data Security

Correct Answer: C

QUESTION 2

A user has configured a specific distributed firewall rule preventing VM-A (172.16.10.11) on the Web-Logical Switch to
communicate to VM-B (172.16.20.11), running on the same switch. After the changes, the user is still able to
communicated to VM-A from VM-B.

To debug this anomaly, the user will need to obtain logs from which component?

A. The Distributed Logical Router

B. The Edge Services Gateway

C. The appropriate ESXi Hosts(s)

D. The appropriate NSX Controller(s)

Correct Answer: C

QUESTION 3

The fact that NSX Data Security has visibility into sensitive data provides which two benefits? (Choose two.)
A. It helps address compliance and risk management requirements.

B. It acts as a forensic tool to analyze TCP and UDP connections between virtual machines.

C. Itis able to trace packets between a source and destination without requiring access to the guest OS.

D. It eliminates the typical agent footprint that exists with legacy software agents.

Correct Answer: AB

QUESTION 4
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An administrator creates a SpoofGuard policy for specific networks. Which two modes are associated with this type of
policy? (Choose two.)

A. Automatically trust IP assignments on their first use

B. Manually inspect and approve all IP assignments before use

C. Manually approve IP assignments listed in the Host file before use
D. Automatically inspect and trust IP assignments on every use

Correct Answer: AB

QUESTION 5

Which two NSX roles could be used to create security policies? (Choose two.)
A. Enterprise Administrator

B. Security Administrator

C. NSX Administrator

D. Auditor

Correct Answer:. AB
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